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Data Analysis – 
An archer is in need of a new bow for a competition.  He has it narrowed down to two specific types but before buying a new bow he decided to conduct an experiment to determine if the distance between the bow and the cord (string) influences the amount of force required to pull each string. The results are presented in the table: 
	Distance between the bow and the cord (string) (cm)
	Force Required (N)


	
	Bow A
	Bow B

	20
	0
	0

	30
	18
	26

	40
	35
	51

	50
	53
	75

	60
	71
	102

	70
	87
	123

	80
	100
	150


1. What is the independent variable? 
Distance between the bow and the cord (cm)

2. What is the dependent variable? 
Force (N)
3. What are TWO (2) control variables? 
Answers will vary.  Examples include: 

4. Draw a double line graph to represent the results of this experiment.

Title: _______________________________________________

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


5. Write a conclusion for this experiment.  
As the distance between the bow and the cord increases, both Bow A and B show increased force required to use the bow.  
